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- The presence of extreme observations does not affect

b5 il 10respectively, then the
wn

f x are kno
1f x and y are related by y = 2x+ 5 and the SD and AM o : ‘
coefficient of variation of y is W (d) 2
(a) 25 (b) 30 (c)
MTP October ‘19 . L
gnclas k, 2hieh

T he mean of the values of 1, 2, S ,n with respective frequ o

2n+1 g

e (b) © e 6
- . : ‘ h observation the mean
H eac )

The mean of four observations is 10 and when a constant a 1S added to
becomes 13. The value of a is i) B of these

3 .
. iy i m B to A at the rate of 30km/hr. What is the

/hr and fro [MTP March ‘21]

A person travels from A to B at the rate of 20 km
average rate of whole journey ?

(a) 30km/hr. (b) 24 km/hr. (c) 35 km/hr.
The average salary of a group of unskilled workers is Rs.10,000 and thatofa g

Rs.15,000. If the combined salary is Rs. 12,000, then what is the percentage (0]
(d) none of these

(d) none of these
roup of skilled workers is
f skilled workers?

(a) 40% (b) 50% (c) 60%

The third decile for the numbers 15, 10, 20, 25, 18, 11, 9, 12 is [MTP April 19]

(a) 13 (b) 10.70 (c) 11 (d) 11.50

If the SD of x is 3, wh‘at us the variance of (5-2x)?

(a) 36 (b) 6 le) 3 , (d) 9

If the values of all observations are equal then the Standard Deviation of the given observations is
0 (b) 2 (e) & ' (d) None of these

The Standard Deviation of a set of 50 items is 10. Find the Standard Deviation if every item is increased
by 5. :

la) 15 (b} 5 ' ¢} 10 (d) None of these

Find the coefficient of variation if the sum of squared deviations taken from mean 40 of 10 observations
is 360. ~

(a) 15 (b) 20 (c) 40 (d) None of these

The average of n numbers is x. If each of the numbers is multiplied b
n+
set of numbers is 'y (n+1); then the average of new

X

@) x . (b) T (€) (n+1)x (d) Noné of these

The average ng,ght of 8 person increases by 1.5 kg, if a person weij
person, what would be the weight of the new person? '

(a) 76kg . (b) 80kg (c) 77kg

ghing 65 kg replaced by a new

(d) None of these
EMTPMarch 19, April “19]

(a) AM (b) Median (c) Mgae
(d) Any of these.
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a group of persong MTP-1 Nov'22

e » aver s
80 kg and 50 k . -rage weight | i
> § respectively Bht is 60 kg. If the average of males and females taken separately is

. , find th ,
) 23 € ratio of the number of males to that of females.

(b) 40 km/hr (c) 36 km/hr (d) 42 km/hr
). 10is o5, then the standard deviation of 11, 12,13, 14, ....., 20

(b) 10+¢g o (d) None of these

o 10-20 $20-30 30-40
) 81 - : ;. ¢
. (b) 7.6 (c) 9 (d) 2.26
the d!ffere'nce betyveen Mean and Mode is 69, then the difference‘ ?tween Mean and Median will
E e B - 1.
« , {b) 31.5 A (d) None of these
# il observations in a distribution are increased by 6, then the variance of the series will be  Cag jﬂi‘
1) Increased ' (b) Decreased .((-t‘)/U‘nchanged (d) None of these. ;

h measure of dispersion is base on the absolute deviation only?
Rang () Standard Deviation Mean Devaition (d) Quartile Devation
ue the value of 3rd quartile from the following data 40, 35, 51,30, 21, 25, 16, 29, 27,32
ot e 2 % i S 43
-~ {b) 30.25 Site) 2 d) 35
o e = -~ 3‘5"?’ f}%éi.g«},’;ﬁ
mean of 100 students was 45 . Later on, it was discovered that the marks of two students were =
f58 and 45. Find correct mean. ' :
il 5 3

ad as 85 and 54 instead of >
29 ®f % e . =

L e and coefficienct of variation offdéwta; set x are respectively, 10 and 30. The variance

= e ey B (d) 36
imate ratio of sD, MD, Q Sk — |
im (b) 3:4:5 @ 151210 O (d) 5:67
é . A R f r o o \-*!l{r»"i%[' Wmﬂv «w e
e numbers 40, 50 and x is 10, the ya{pe af’&is f B = ;&4 gt

,?iC m : (b) 4 )2

NP2 a2 8

; 2 = i 7.' i : : “ " is
. e following observations is 1
ation from the 1% . |










